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Gyd;nkhopj; Nju;T 
 

Nfl;lYk; tpsq;fpf;nfhs;SjYk; 
 

m - gFjp 

xypapWntl;by; xypf;fg;gLk; ciug;gFjpiaf; Nfl;L> tpsq;fpf; nfhz;L> 
fPo;f;fhZk; $w;Wfs; rupahapd;  vdTk;> gpioahapd; vdTk; 
fl;lj;jpDs; milahskpLf.                                                                                                       

 

1. fiyfs; kdr;Nrhu;itAk; clw;fisg;igAk; Nghf;f ty;yit.   
 
 

 

2. xt;Nthu; ,dKk; jdpj;jd;ikahd fiyfisf;  

  nfhz;bUf;ftpy;iy. 
 

3. kf;fs; tho;f;iff;Fj; Njitahd nghUl;fis  

  Mf;fpf;nfhs;tjw;Fg; gad;gLk; fiyfs; gad;fiyfs; MFk;.  

 
 
  

4. kl;ghz;lk; tidjy; ftpd;fiyfSs; xd;whFk;. 
 
 

   

5. gad;fiyfisr; nra;tjw;F ,d;W gy nghwpfs;  

  fz;Lgpbf;fg;gl;Ls;sd. 
 
 

 

 

6. gad;fiyfisr; nra;Ak; fiyQu;fis ehk; Cf;Ftpf;f  

  Ntz;Lk;. 
                 
 

7. ,ir> Xtpak;> rpw;gk; Nghd;wd ftpd;fiyfs; MFk;. 
 

 
 

8. Gyk;ngau; ehLfspy; ftpd;fiyfs; mLj;j jiyKiwf;Ff; 
  fw;gpf;fg;gl;L tUfpwJ.   

ngau;: 

 

; 

ehs;: rdpf;fpoik

 

; 

(8 x  ½  = 4 Gs;spfs;) 



 

 

M - gFjp 
 

 xypapWntl;by; xypf;fg;gLk; ciuahlw;gFjpiaf; Nfl;L> tpsq;fpf; 
nfhz;L fPo;f;fhZk; tpdhf;fSf;F tpil vOJf.   

 

1. nrd;w Mz;L gs;spapy; eilngw;w tpoh vJ? 

     ___________________________________________________________ 

2. ve;jj; jiyg;gpy; fhnzhspf;fhl;rp Mf;fpj;jUk;gb Nfl;fg;gl;lJ? 

     ___________________________________________________________ 

3. mz;zh gapy;fpd;w fiyahff; $wg;gl;lJ vJ? 

 
 

     ___________________________________________________________ 

4. jkpoupd; fl;llf;fiyf;Fr; rhd;whf tpsq;FtJ vJ? 

 
 

     ___________________________________________________________ 

5. jkpoupd; muq;Nfw;wk; gw;wpa nra;jpfisf; $wpAs;s Áy; vJ? 
 

 

     ___________________________________________________________ 

 

6. fhnzhspf;fhl;rpf;fhf mzpaQ;nra;j gFjpfis vjd; Clhf  

  mDg;gpitf;f Ntz;Lk;? 

 
     ___________________________________________________________ 

                                                 

 

 

 

 

 

 

 

(6 x  1  = 6 Gs;spfs;) 


